4 A 515N IRFTEAER

36, —R& A (3 BR5E | 35N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | 88 | €% | BE | £4 &%
4H4H 1F3 Fx 200/ 105 21,000 0 105 21,000
4H6H Zayal)— Fx 150 23| 3,450 0 23| 3450
48 8H FARNSHR IR 100 6 600 0 6 600
AF3 Fx 200( 116 23,200 0 116] 23,200
4A811H  |[ZFARNSHR  [IRiE 100 6 600 0 6 600
A4F3 Fx 200( 112 22400 0 112] 22,400
Joyal— Fx 150 8] 1,200 0 8] 1,200
48138 |7ANSHR  |RE 100 20| 2,000 0 20[ 2,000
¥ i) ith 200 20| 4,000 0 20( 4,000
48158  |Z7ANSHR |RE 100 20| 2,000 0 20( 2,000
AF3 % 200/ 162 32,400 0 162 32,400
¥ BEh 200 28| 5,600 0 28| 5,600
RIEY-C RiE 600 18[ 10,800 0 18] 10,800
4H18H |4F3 Fx 200 87| 17,400 0 87| 17,400
48208 |ZFARNSHR [IRiE 100 39] 3,900 0 39] 3,900
482280  |4F3 Fx 200 123 24,600 0 123| 24,600
4825H |FARNSHR [IRiE 100 23] 2,300 0 23| 2,300
AF3 Fx 200 87| 17,400 0 87| 17,400
4827H |FARNSHR  [IRiE 100 25| 2,500 0 25| 2,500
4H28H |4F3 Fx 200 90| 18,000 0 90| 18,000
&t 215,350 0 215,350




5 A 35 A ERSEAER

36, — iR E T ERTE

15NEE IRFE(ES)

fR5EH i B Mize=Ea| Bifi | HE| 56 | B8 | €% | = | €8 &%

582H A4F3 S 200[ 93| 18,600 0 93| 18,600
5H6H FARANSHR  |IRE 100 26| 2,600 0 26| 2,600
A4F3 S 200( 87| 17.400 0 87| 17,400

5H9H FARANSHR  |IRE 100 33| 3,300 0 33] 3,300
A4F3 S 200[ 72| 14,400 0 72| 14,400

5A11B  |[FANSHR  |IRE 100 12| 1,200 0 12| 1,200
58138 [ZR/ISHR  |BiE 100/ 26| 2,600 0 26| 2,600
AF3 Fx 200( 100[ 20,000 0 100 20,000

58168 |[4Fd S 200[ 73| 14,600 0 73| 14,600
5198  |[FANSHR  |IRE 100 15| 1,500 0 15| 1,500
58208 [ZR/INSHR B 100 10[ 1,000 0 10[ 1,000
AF3 Fx 200 62| 12,400 0 62| 12,400

58238 |4Fd Fx 200 57| 11,400 0 57| 11,400
5258 |FANSHR |IRE 100 18] 1,800 0 18] 1,800
52718 |ZAR/NSHR |EBE 100 6 600 0 6 600
AF3 Fx 200 69| 13,800 0 69 13,800

5308 |ZR/NSHR |EE 100 9 900 0 9 900
A4F3 Fx 200 36| 7,200 0 36| 7,200

AAH5 S 500[ 38| 19,000 0 38| 19,000

AAH4 Fx 400 28| 11,200 0 28 11,200

5A318B [RAAH5 Fx 500| 50| 25,000 0 50| 25,000
A1 H4 Fx 400 11| 4,400 0 11| 4,400

&t 204,900 0 204,900




6 8 75 ERSTMER

26, —R&E (T BR5E | 15 R S BRFE(ES])

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
6818 FRINSGHR  [IREE 100 7 700 0 7 700
AAH5 Fx 500 29 14,500 0 29[ 14,500
AALH4 B 400 19| 7,600 0 19| 7,600
6828 AALH5 % 500 49 24500 0 49 24500
AALH4 B 400 14| 5600 0 14| 5600
6H3H FARINSHR IR 100 8 800 0 8 800
AAH5 Fx 500 9| 4500 0 9] 4500
AAH4 Fx 400 24| 9,600 0 24| 9,600
6 HA6H FRINSHR  [IREE 100 9 900 0 9 900
AAH5 Fx 500 47| 23500 36/ 18,000 11| 5,500
AALH4 B 400 31| 12,400 0 31] 12,400
6878 AALH5 % 500 74| 37,000 45| 22500 29[ 14,500
AALH4 Fx 400 52| 20,800 2 800 50[ 20,000
6H8H FARINSHR IR 100 8 800 0 8 800
AAH5 B 500 76/ 38,000 25 12,500 51| 25500
AALH4 Fx 400 33| 13,200 10| 4,000 23] 9,200
68138 |FRISHR |BRE 100 9 900 0 9 900
6158 |FARNSHR IR 100 10[ 1,000 0 10/ 1,000
6817H |ZFR/INSHR |BRE 100 9 900 0 9 900
6H208 |FRNSHR IR 100 16/ 1,600 16/ 1,600 0 0
AAH5 B 500 61[ 30,500 61[ 30,500 0 0
AALH4 Fx 400 75 30,000 28 11,200 47 18,800
68228 |RAH5 Fx 500 49 24,500 49 24500 0 0
AALH4 Fx 400 55 22,000 2 800 53| 21,200
68248 |XAH5 Fx 500 68| 34,000 68| 34,000 0 0
AALH4 Fx 400 36| 14,400 15| 6,000 21| 8,400
68278 |FR/NSHR |IBE 100 18] 1,800 0 18] 1,800
68288 |&F RiE 100 2 200 0 2 200
e RiE 100 5 500 0 5 500
6H298 |FARNSHR IR 100 8 800 0 8 800
68308 |49 R 100 9 900 0 9 900
&t 378,400 166,400 212,000




TR 315 AIRTERER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

7A1H FRINSGHR  [IREE 100 6 600 0 6 600
AN RiE 100 6 600 0 6 600

7H4H FRINZGHR  |IRiE 100 11] 1,100 0 11] 1,100
AN RiE 100 6 600 0 6 600

E—< R 100 2 200 0 2 200

785H AALH5 % 500/ 116 58,000 87/ 43500 29[ 14,500
AALH4 B 400 58| 23,200 9| 3,600 49 19,600

s RiE 100 9 900 9 900 0 0

7H6H FRINGHAHR  |IRE 100 17| 1,700 17] 1,700 0 0
AAH5 Fx 500/ 124 62,000 49 24,500 75| 37,500

AALH4 B 400 39[ 15,600 0 39[ 15,600

s RiE 100 9 900 9 900 0 0

7A7H AAH5 B 500 94| 47,000 31| 15,500 63| 31,500
AAH4 Fx 400 21| 8,400 0 21| 8400

59 RiE 100 10/ 1,000 10/ 1,000 0 0

E—< RiE 100 6 600 6 600 0 0

7H8H FARINSGHR  |IRE 100 18] 1,800 0 18] 1,800
AN RiE 100 4 400 0 4 400

e RiE 100 3 300 0 3 300

7118 |[FRNSHR |IRE 100 25| 2,500 0 25| 2,500
59 RiE 100 10/ 1,000 0 10/ 1,000

4 R 100 4 400 0 4 400

E—< RiE 100 7 700 0 7 700

TSHIT B Eih 200 40[ 8,000 0 40[ 8,000

7128 |RAH5 Fx 500 45 22,500 0 45 22500
AAH4 Fx 400 3] 1,200 0 3] 1,200

59 RiE 100 5 500 0 5 500

4 R 100 4 400 0 4 400

E—< RiE 100 5 500 0 5 500

7138 |[FRNSHR IR 100 25| 2,500 0 25| 2,500
AAH5 B 500 28| 14,000 0 28| 14,000

AN RiE 100 6 600 0 6 600




— A& a4 AR 55

15A

8 BRSE(ES)

@B HE B i = E | %5 | ¥=E | % &%
FRINGHR IR 100 23 0 23] 2,300
AAH5 Fx 500 64 0 64| 32,000
AA1H4 e 400 5 0 5| 2,000
59 R 100 5 0 5 500
s RiE 100 5 0 5 500
E—< RiE 100 8 0 8 800
FRINGHR IR 100 13 0 13| 1,300
59 RiE 100 5 0 5 500
E—<> R 100 4 0 4 400
59 RiE 100 5 0 5 500
E—<> R 100 5 0 5 500
FRINSHR  [IREE 100 23 0 23] 2,300
b= =) EE 200 22 0 22| 4,400
FARINSGHR  |IRE 100 18 0 18] 1,800
AN RiE 100 3 0 3 300
FARINSGHR  |IRE 100 12 0 12| 1,200
ke S (A3 200 26 0 26/ 5200
59 RiE 100 3 0 3 300
E—<> R 100 4 0 4 400
FARINSGHR IR 100 11 0 11] 1,100
E—<> R 100 5 0 5 500
EAE = N=) = 200 15 0 15 3,000

&t 92,200 249,300




8 A 75 IRSEMER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
8A1H FRINGHR RiE 100 9 900 0 9 900
8A2H AAH5 B 500 27| 13,500 0 27| 13,500

AAH4 Fx 400 11 4,400 0 11] 4,400
b =) (A3 200 18| 3,600 0 18] 3,600
8A3H FRINGHR RiE 100 7 700 0 7 700
B3PH et} 400 60| 24,000 0 60 24,000
8A5H TFRINGHR RiE 100 6 600 0 6 600
ke S (A3 200 15| 3,000 0 15 3,000
ESoh S 350 62| 21,700 0 62| 21,700
8H8H FARINGHR R 100 10[ 1,000 0 10/ 1,000
by =) (A3 200 56/ 11,200 0 56/ 11,200
8A9H ke S (A3 200 47[ 9,400 0 47( 9,400
T RAE— (A3 200 17| 3,400 0 17| 3,400
8A10H [#FfkiaE& (A3 200 29[ 5,800 0 29[ 55800
FHK Fat 300 13| 3,900 0 13| 3,900
8H12B |[FR/INTHR R 100 8 800 0 8 800
by =) (A3 200 20[ 4,000 0 20[ 4,000
8H158 |FR/INTHX R 100 11 1,100 0 11 1,100
8A17H |FRINZHR R 100 12| 1,200 0 12| 1,200
K et 400 36| 14,400 0 36| 14,400
8A18H |&d RiE 100 7 700 0 7 700
K et 400 36| 14,400 0 36| 14,400
ME el 400 36| 14,400 0 36| 14,400
8H198 [¥EXK e e 400 8| 3,200 0 8] 3,200
E el 350 33| 11,550 0 33| 11,550
8H228 |FRINTHR R 100 18 1,800 0 18] 1,800
Nl Fx 200 6] 1,200 0 6] 1,200
BEOU0®H et 350 24| 8,400 0 24| 8,400
Ed—% fib ith 300 56| 16,800 0 56| 16,800
8H23H [¥EXK e e 300 32| 9,600 0 32| 9,600
E 15 300 30| 9,000 0 30[ 9,000
8H24H |FHR e e 450 46| 20,700 0 46| 20,700




36, —R&E (3 BR5E | 15N S BRFE(ES])

AR5 H @B B {iff = HE | 28 | ¥=E | 5
8H25H |H2U® 350 41 0 41 14,350
B 300 45 0 45| 13,500
8H268 |FR/INSHZR 100 19 0 19| 1,900
K 300 40 0 40[ 12,000
Sl S 4 200 24 0 24| 43800
8H298 |7R/INTGHR 100 7 0 7 700
FHR 450 43 0 43[ 19,350
8H30H |[S=k=hk 200 80 0 80[ 16,000
hERTH 200 7 0 7] 1,400
8H31H =K 200 68 0 68| 13,600
FHR 450 40 0 40[ 18,000
2K 300 39 0 39 11,700
R A 300 15 0 15| 4,500
& 0 372,150




9 R ERERFTRER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| Hiff | BE| €8 | & | €8 | ®WE | 4 ik

9H2H FRINGHR RiE 100 14| 1,400 0 14| 1,400
HHR BB 45t 600 78| 46,800 0 78| 46,800

9A5H FRINGHR RiE 100 9 900 0 9 900
Sl S g B 200 69| 13,800 0 69 13,800

FHR et 600 41| 24,600 0 41| 24,600

hELTE B 200 8] 1,600 0 8| 1,600

9H6H 2K 15 300 25| 7,500 0 25( 7,500
— i BB 45t 200 24| 43800 0 24| 43800

INERAH Fx 200 23] 4,600 0 23| 4,600
WERA(HEH) | Fx 100 15/ 1,500 0 15| 1,500

9H7H IovE—k | B 300 53| 15,900 0 53| 15,900
FogHA Fx 100 23| 2,300 0 23| 2,300

2 K(1.5) EE] 450 30[ 13,500 0 30[ 13,500

9H8H 2K et 300 10[ 3,000 0 10/ 3,000
INERAS Fx 200 9] 1,800 0 9] 1,800
WERA(HEH) | Fx 100 18 1,800 0 18] 1,800

9A9H TFRINGHR RiE 100 6 600 0 6 600
Sl S 4 B 200 73| 14,600 0 73| 14,600

hELTE Fx 200 18] 3,600 0 18] 3,600

k< H(0.8) B 200 22| 4400 0 22 4,400

98128 |FRINZHR R 100 12| 1,200 0 12| 1,200
HEoOE e 250 67| 16,750 0 67| 16,750

98130 |E=k=h B 200 70| 14,000 0 70| 14,000
hELTE B 200 38| 7,600 0 38] 7,600

—tiEfe 1 250 371 9,250 0 37 9,250

k< k(0.8) B 200 21| 4,200 0 21| 4,200

9A15H |y AURAv] WEHh 300 98| 29,400 0 98| 29,400
9168 |[FR/INTHX R 100 7 700 0 7 700
Nl s Fx 200 62| 12,400 0 62| 12,400

hELTE B 200 39 7.800 0 39[ 75800

k< H(0.8) Fx 200 36] 7,200 0 36] 7,200

PR i) 250 26| 6,500 0 26 6,500




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MEESR| Eif 2| 2% | = | 2% | K= | €% &%
9 12%6(0.3) e e 100 21] 2,100 0 21| 2,100
9H208 |7R/INSHR RiE 100 7 700 0 7 700
ke SE (A3 200 40[ 8,000 0 40[ 8,000
k< K(0.8) Fx 200 15| 3,000 0 15| 3,000
9A218 |#F#kiaESE (A3 200 23] 4,600 5/ 1,000 18] 3,600
HX R 200 33| 6,600 0 33| 6,600
9A228 |#H#kiaESE (A3 200 16| 3,200 0 16| 3,200
kb B 200 90[ 18,000 13| 2,600 77| 15,400
hERTE B 200 27| 5,400 14| 2,800 13| 2,600
k< K(0.8) Fx 200 11 2,200 9] 1,800 2 400
9H268 |FR/NTHR R 100 6 600 6 600 0 0
Sl S g B 200 51| 10,200 24| 43800 27| 5,400
hERTE B 200 20[ 4,000 13| 2,600 7 1,400
k< H(0.8) B 200 24| 43800 14| 2.800 10 2,000
9A28H |#kiaESE (A3 200 22 4,400 5/ 1,000 17| 3,400
HX S 200 51| 10,200 20| 4,000 31| 6,200
9 12%5(0.5) et} 200 37| 7,400 7] 1,400 30[ 6,000
9A29H |#HHBEE (A3 200 20[ 4,000 2 400 18] 3,600
Sl S 4 B 200 76/ 15,200 41| 8,200 35 7,000
hERTE B 200 13| 2,600 13| 2,600 0 0
;< H(0.8) Fx 200 16/ 3,200 16/ 3,200 0 0
HX S 300 98| 29,400 27| 8,100 71| 21,300
9A308 [|#F#kiaESE (A3 200 18| 3,600 5/ 1,000 13| 2,600
HX el 300 35| 10,500 25| 7,500 10/ 3,000
&t 449,900 56,400 393,500




10 A 215 RERFEAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
108380 [ZAval— B 150 19| 2850 0 19 2850
Sl S 4 B 200 54 10,800 29[ 55800 25 5,000
hELTE B 200 5| 1,000 5| 1,000 0 0
k< k(0.8) B 200 25 5,000 20[ 4,000 5| 1,000
1048 |#h#kfaESE (A=3 200 13| 2,600 2 400 11] 2,200
kS i 200 40[ 8,000 14| 2,800 26/ 5,200
10858 [FAval— xR 150 22 3,300 22[ 3,300 0 0
ke S (A3 200 21| 4,200 2 400 19| 3,800
T RE— (A3 200 21| 4,200 8| 1,600 13| 2,600
kS Fx 200 58] 11,600 15[ 3,000 43| 8,600
EEAER i 300 20| 6,000 20( 6,000 0 0
FEABR(1.5) e e 450 5| 2250 0 5| 2,250
10H6H |[7RZ— f£= 200 15 3,000 10| 2,000 5/ 1,000
kS Fx 200 15| 3,000 0 15| 3,000
EEAER EE] 300 40[ 12,000 37] 11,100 3 900
$EABR(1.5) et} 450 14| 6,300 0 14| 6,300
10878 [FAval— xR 150 50[ 7,500 20[ 3,000 30[ 4500
ke SE (A3 200 12| 2,400 5/ 1,000 7 1,400
T RAE— (A3 200 19| 3,800 8| 1,600 11] 2,200
Sl S 4 B 200 47( 9,400 21| 4,200 26/ 5,200
hERTE B 200 13| 2,600 13| 2,600 0 0
k< k(0.8) B 200 18] 3,600 18] 3,600 0 0
10811H [FAyval— B 150 61 9,150 20[ 3,000 41| 6,150
Sl S 4 B 200 68 13,600 14| 2,800 54 10,800
hELTE Fx 200 13| 2,600 0 13| 2,600
k< k(0.8) B 200 19| 3,800 17| 3,400 2 400
108128 |#h#kfaES& (A3 200 16| 3,200 5/ 1,000 11] 2,200
T AZ— EE 200 31] 6,200 5| 1,000 26| 5,200
108138 [#8AER EE] 300 16] 4,800 16] 4,800 0 0
$EABR(1.5) e e 450 10/ 4,500 0 10| 4,500
#hE i 600 50 30,000 35 21,000 15/ 9,000
108148 |[Z@yal)— Fx 150 48| 7,200 20| 3,000 28] 4,200




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

b =) (A3 200 15| 3,000 5/ 1,000 10 2,000

FREI— fE= 200 30[ 6,000 7| 1,400 23| 4,600

Sl S g B 200 78| 15,600 20[ 4,000 58] 11,600

hELTE Fx 200 12| 2,400 0 12| 2,400

;< H(0.8) Fx 200 10[ 2,000 0 10/ 2,000

FEA BRCA]) AR 250( 130 32,500 67| 16,750 63| 15,750

108178 [FAval)— Fx 150 21] 3,150 0 21] 3,150
A= N=) EE 200 10| 2,000 6| 1,200 4 800

Sl S 4 B 200 56| 11,200 17| 3,400 39[ 7.800

hELTE Fx 200 14] 2,800 0 14| 2,800

k< 1(0.8) Fx 200 3 600 0 3 600
BAEREDE) S 200 50( 10,000 0 50( 10,000

HrE IR 100 40( 4,000 25 2500 15/ 1,500

10R188 |#h#kfaE& (A3 200 23] 4,600 4 800 19| 3,800
T AZ— EE 200 34| 6,800 2 400 32| 6,400

i R 600 135| 81,000 33[ 19,800 102 61,200

FEABRGA]) AT 250 80| 20,000 50| 12,500 30[ 7,500

10198 |#h#kfaE & (A3 200 7 1,400 0 7| 1,400
T AZ— EE 200 6] 1,200 0 6] 1,200

EEAER EE] 250 49 12,250 0 49 12,250

108208 [FAvyal)— B 150 13] 1,950 0 13| 1,950
SZhbk xR 200 48] 9,600 0 48[ 9,600

hERTE B 200 11] 2,200 0 11] 2,200

k< H(0.8) Fx 200 2 400 0 2 400

HEAER e e 250 64| 16,000 37| 9,250 27| 6,750

HYrME R 100 22| 2,200 0 22 2200

108218 |FikfaES& (=3 200 12| 2,400 8] 1,600 4 800
T RAE— (A3 200 31| 6,200 16| 3,200 15 3,000

FEABRGA]) AR 250 93| 23,250 47] 11,750 46| 11,500

B XA B 300 31 9,300 24 7,200 7| 2,100

108248 |[FOvyal)— Fx 150 9] 1,350 9] 1,350 0 0
kb B 200 69 13,800 32[ 6,400 37 7,400

hELTE B 200 22| 4400 14| 2,800 8| 1,600




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
k< 1(0.8) Fx 200 1 200 1 200 0 0
B AR 250( 102 255500 50| 12,500 52| 13,000
108258 |FifkfaES& (A3 200 6| 1,200 4 800 2 400
T RE— = 200 25 5,000 6| 1,200 19| 3,800
i Rt 600[ 115[ 69,000 26| 15,600 89| 53,400
BAEREDE) el 200 69| 13,800 24| 45800 45( 9,000
B AT 250 25| 6,250 12| 3,000 13| 3,250
10H268 |#h#kfaESE = 200 2 400 1 200 1 200
T AZ— EE 200 6] 1,200 1 200 5| 1,000
i i 600 22| 13,200 10| 6,000 12| 7,200
BEREDE) et 200 30| 6,000 13| 2,600 17] 3,400
B AR 250 18] 4,500 12| 3,000 6] 1,500
108278 |[Z@yal)— Fx 150 17 2,550 17| 2,550 0 0
i i 600 3| 1,800 3| 1,800 0 0
108288 [S=hkXb B 200 64| 125800 39[ 7,800 25 5,000
b ERTE B 200 29[  5.800 22 4400 7| 1,400
k< k(0.8) B 200 3 600 3 600 0 0
108318 [FAval— xR 150 55| 8,250 35| 5250 20[ 3,000
T AZ— EE 200 44| 8,800 3 600 41| 8,200
&t 702,850 277,800 425,050




11 A5 RNERFEAR

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
MA1H [#H#%kaEE E£EE 200 20| 4,000 0 20( 4,000
T AZ— EE 200 17[ 3,400 0 17| 3,400
BAEREDE) S 200/ 102 20,400 24| 4,800 78| 15,600
AR ] 200 6] 1,200 6] 1,200 0 0
EILE el 200 3 600 3 600 0 0
FE(1.5) e e 450 35| 15,750 18 8,100 17| 7,650
11H28  [FAval— B 150 73| 10,950 11 1,650 62] 9,300
T AZ— EE 200 17[ 3,400 5| 1,000 12| 2,400
kb B 200 39 7,800 10| 2,000 29[  5,:800
hELTE B 200 20( 4,000 11] 2,200 9] 1,800
k< H(0.8) Fx 200 2 400 2 400 0 0
BEREDE) e e 200 29| 5,800 14| 2,800 15| 3,000
CAFELA EE] 200 42| 8,400 14] 2,800 28| 5,600
11548 [#= AR 250 65| 16,250 30[ 7,500 35 8,750
FECAD AR 200 61] 12,200 33| 6,600 28| 5,600
11A78  [ZAayval— Fx 150 98| 14,700 45| 6,750 53| 7,950
by =) (A3 200 10| 2,000 4 800 6| 1,200
Sl S 4 B 200 44| 8,800 44| 8,800 0 0
b ERTE B 200 18] 3,600 18] 3,600 0 0
F= AR 250 6] 1,500 4] 1,000 2 500
ER 15 500 135[ 67,500 56| 28,000 79[ 39,500
=X AR 250 34| 8500 12| 3,000 22| 5500
~HELE AR 300 50[ 15,000 20[ 6,000 30[ 9,000
11A8H |fikfaES& (A3 200 10| 2,000 0 10 2,000
HR¥E Fx 200 50| 10,000 20| 4,000 30| 6,000
F= AR 250 4] 1,000 4] 1,000 0 0
H AR 250 15| 3,750 11] 2,750 4] 1,000
11898 [E# e e 500 40| 20,000 26| 13,000 14| 7,000
H AR 250 4] 1,000 4] 1,000 0 0
1% 2 4 AR 200 54| 10,800 3 600 51| 10,200
Abvo (A3 200 13| 2,600 0 13| 2,600
11A108 |[Zayal— Fx 150 84| 12,600 35| 5250 49| 7,350




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MEESR| Eif 2| 2% | = | 2% | K= | €% &%

Sl B4 B 200 79| 15,800 36] 7,200 43[ 8,600

b ERTE B 200 14| 2,800 10 2,000 4 800

THE4L AR 300 32[ 9,600 7 2100 25 7,500

s 2] AR 200 12| 2400 1 200 11] 2,200

Abvy (A3 200 6| 1,200 2 400 4 800

AFCGAD AR 300 50| 15,000 23| 6,900 27| 8,100

HMAN1HE |FkfEes (A3 200 9| 1,800 0 9] 1,800
T RAE— (A=3 200 20[ 4,000 3 600 17| 3,400

THE4L AR 300 15| 4,500 8| 2,400 7| 2,100

Abvo (A3 200 15| 3,000 4 800 11] 2,200

118148 |[Z@Oyal— Fx 150 85| 12,750 26| 3,900 59| 8,850
by =) (A3 200 5/ 1,000 0 5/ 1,000

THE4L AR 300 20[ 6,000 11] 3,300 9] 2,700

FTHAE R 300 30[ 9,000 22[ 6,600 8| 2400

11A158 |Fikfaas (A3 200 5| 1,000 4 800 1 200
S=hbk B 200 65/ 13,000 28| 5,600 37 7,400

hELTE B 200 15| 3,000 15 3,000 0 0

EX N R 500 95| 47,500 22| 11,000 73] 36,500

THE4L AR 300 3 900 3 900 0 0

Abvo = 200 8| 1,600 6| 1,200 2 400

11A16H [FAval— B 150 10| 1,500 10 1,500 0 0
BT =N=) = 200 3 600 1 200 2 400

Abvy (A3 200 5| 1,000 5| 1,000 0 0

HYYILE R 200 12| 2400 0 12| 2400

118178 [Zayal— Fx 150 42| 6,300 20| 3,000 22| 3,300
~HELE AR 300 98| 29,400 33[ 9,900 65/ 19,500

11A18H [EHMCH) AT 200 66| 13,200 43| 8,600 23| 4,600
11218 |4F3d B 300 12| 3,600 12| 3,600 0 0
ZOyal)— Fx 150 50| 7,500 14 2,100 36| 5,400

b= =) (A3 200 4 800 0 4 800

Sl S 4 B 200 60[ 12,000 30[ 6,000 30[ 6,000

b ERTE B 200 18] 3,600 18] 3,600 0 0

Abvy (A3 200 6] 1,200 0 6] 1,200




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
11A228 |FikfaEE (A3 200 6| 1,200 5/ 1,000 1 200
EX N R 500 63| 31,500 28| 14,000 35| 17,500
Abvy (A3 200 6| 1,200 2 400 4 800
= H M) AR 200 61[ 12,200 21| 4,200 40[ 8,000
118248 [FAavyal)— B 150 70| 10,500 55 8,250 15| 2,250
by =) (A3 200 3 600 3 600 0 0
Abvo = 200 10 2,000 4 800 6] 1,200
118258 |4F3d Fx 300 20( 6,000 0 20[ 6,000
THE4L AR 200 40[ 8,000 20[ 4,000 20[ 4,000
AFRCGAD AR 200 50| 10,000 19| 3,800 31| 6,200
EF e 200 28| 5,600 8] 1,600 20( 4,000
Y (Z4RER) EE] 100 47 4700 16] 1,600 31] 3,100
118288 [4Fd X 300 22| 6,600 0 22| 6,600
JOyal)— B 150 71| 10,650 13| 1,950 58| 8,700
kS Fx 200 33| 6,600 12[ 2,400 21| 4,200
~HELE AR 200 30[ 6,000 15 3,000 15| 3,000
Y (AR et} 100 16] 1,600 15| 1,500 1 100
AL S 300 54| 16,200 17] 5,100 37| 11,100
118298 [RIFY-C R 600 19[ 11,400 19 11,400 0 0
by = =) E= 200 5| 1,000 2 400 3 600
Sl S 4 B 200 93 18,600 21] 4,200 72| 14,400
hELTE Fx 200 21| 4,200 15| 3,000 6] 1,200
kS i 200 10| 2,000 4 800 6| 1,200
Abvo (A3 200 12| 2,400 2 400 10 2,000
FHAE IR 300 27| 8,100 0 27| 8,100
118308 [RbyY f£= 200 3 600 0 3 600
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
& 728,300 300,000 428,300




12 A 215 RNERFTAER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

12818 [ZAayal)— Fx 150 7] 1,050 7] 1,050 0 0
Abvy (=3 200 5| 1,000 5/ 1,000 0 0

12820 [4F3 B 300 36/ 10,800 0 36/ 10,800
JOyal)— Fx 150 40| 6,000 13 1,950 27| 4,050

Abvo (A3 200 4 800 4 800 0 0

= FHCE) AR 200 12| 2,400 4 800 8| 1,600

i) I R BB AR 250 36] 9,000 21| 5250 15| 3,750

TEfERR AR 200 60| 12,000 32| 6,400 28| 5,600

IR fHIAR AR 250 49 12,250 23| 5,750 26| 6,500

12A58  |FikfaESs (A3 200 2 400 0 2 400
Abvy f£= 200 5/ 1,000 0 5/ 1,000

BILJ R ER AR 250 9] 2250 1 250 8] 2,000

TEfH A AR 200 4 800 3 600 1 200

FRfHFR AR 250 4] 1,000 0 4| 1,000

1286H _[4F3 Fx 300 20| 6,000 0 20( 6,000
JOyal)— Fx 150 28| 4,200 11 1,650 17| 2,550

1EHHFT AR 200 52| 10,400 13| 2,600 39| 75800

1278 |RbyY (A3 200 8| 1,600 6] 1,200 2 400
1EHHFT AR 200 48| 9,600 18] 3,600 30| 6,000

1288 |S=kXEH B 200 19] 3,800 0 19| 3,800
12890 [4F3 B 300 21| 6,300 0 21| 6,300
ZOyal)— Fx 150 21] 3,150 0 21] 3,150

Nl s Fx 200 7] 1,400 0 7| 1,400

Abvo S 200 11 2,200 3 600 8| 1,600

RIFY-IR RiE 600 40 24,000 14| 8,400 26 15,600

128128 [4F3 X 300 23| 6,900 22| 6,600 1 300
by =) (A3 200 2 400 2 400 0 0

Sl S 4 B 200 37| 7.400 22 4,400 15 3,000

B XA B 300 61| 18,300 21| 6,300 40[ 12,000

Abvy (A3 200 3 600 1 200 2 400

128138 [FAval— B 150 52| 7,800 19| 25850 33] 4950
H A FAR) Fx 300 60| 18,000 8] 2400 52| 15,600




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

Abvo S 200 6] 1,200 1 200 5 1,000

128148 |BRX@ARLH) Fx 300 34| 10,200 10| 3,000 24| 7,200
= F M) AR 200 49 9,800 10| 2,000 39[ 75800

AL EEl 300 39| 11,700 13| 3,900 26| 7,800

TE{ERR AT 200 32| 6,400 5| 1,000 27| 5400

e (L HER EE] 100 21 2,100 12| 1,200 9 900

LEY 28 150 69 10,350 17| 2,550 52| 7,800

12158 |BRFERD) B 300 43| 12,900 5| 1,500 38| 11,400
Abvy (A3 200 12| 2,400 1 200 11] 2,200

THAE RiE 300 11] 3,300 5| 1,500 6] 1,800

= FHiCE) AR 200 13| 2,600 6] 1,200 7 1,400

AL S 300 10/ 3,000 4] 1,200 6] 1,800

TE{ERR AT 200 2 400 1 200 1 200

e (L HER EE] 100 12| 1,200 4 400 8 800

LEV e e 150 31] 4,650 7] 1,050 24| 3,600

128168 |4F3 B 300 31 9,300 28| 8,400 3 900
JOyal)— Fx 150 9] 1,350 0 9] 1350

H A F@ARD) 5 300 16| 4,800 11| 3,300 5/ 1,500

Abvy (A3 200 5| 1,000 5| 1,000 0 0

= H M) AR 200 16| 3,200 15 3,000 1 200

Y (ZHER e e 100 3 300 0 3 300

128198 _[4F3 Fx 300 27| 8,100 18] 5,400 9] 2700
= FHiCE) AR 200 3 600 3 600 0 0

128208 |#h#kfaEE (A3 200 5/ 1,000 0 5/ 1,000
Abvy (A3 200 11] 2,200 7[ 1,400 4 800

122280 |RkvyY €= 200 15[ 3,000 11] 2,200 4 800
LEV et 150 50| 7,500 24| 3,600 26| 3,900

128238 _[4F3 Fx 300 27| 8,100 18] 5,400 9] 2700
LEV e e 150 10[ 1,500 4 600 6 900
RIFYSIRED) | b 600 26| 15,600 5| 3,000 21| 12,600

128268 |FikfaES (A3 200 1 200 0 1 200
Abvy f£= 200 4 800 0 4 800

LEV E e 150 16 2,400 0 16/ 2,400




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
128288 [4Fd B 300 54| 16,200 0 54| 16,200
JOyal— xR 150 26/ 3,900 0 26/ 3,900
ke SE (A3 200 3 600 0 3 600
Abvo s 200 23] 4,600 0 23] 4,600
0 0 0 0
0 0 0 0
&t 371,250 124,050 247,200




1A 215 RERFEAR

26, —R&E (T BR5E | 15 R S BRFE(ES])

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
1A4H ZOyal)— Fx 150 14 2,100 0 14| 2,100
EIEr N =) (A3 200 2 400 0 2 400
Abvo s 200 3 600 0 3 600
1A5H AF3 X 300 76| 22,800 0 76| 22,800
Abvo f£= 200 2 400 0 2 400
18118 [4Fd X 300 67| 20,100 28| 8,400 39| 11,700
1128 |BRF@ARL) B 300 78| 23,400 15| 4,500 63| 18,900
18138 [ZAaval— Fx 150 35| 5,250 35| 5,250 0 0
e =N=) = 200 1 200 0 1 200
RIFXYIE R 600 60 36,000 24| 14,400 36/ 21,600
1168 |4F3 B 300 72| 21,600 54 16,200 18] 5400
18208  [4Fd X 300 82| 24,600 46| 13,800 36| 10,800
JOyal)— B 150 36| 5400 16| 2,400 20[ 3,000
18238 [4Fd X 300 48| 14,400 35| 10,500 13| 3,900
RIFY-IR RiE 600 38| 22,800 17] 10,200 21| 12,600
182780 [4Fd X 300 66| 19,800 44| 13,200 22| 6,600
&t 219,850 98,850 121,000




2 A 5 RAERFERER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
2A18 1F3 B 300 95 28,500 30[ 9,000 65 19,500
2H6H AF3 B 300 86| 25,800 62| 18,600 24| 7,200
2A9H 1F3 B 300 89 26,700 38 11,400 51| 15,300
2138 |4F3 X 300 89| 26,700 69| 20,700 20| 6,000

JOyal)— xR 150 22| 3,300 0 22 3,300

2168 |BRFXERHD) FE 300 98| 29,400 29| 8,700 69| 20,700
2178 |4F3 B 300 63| 18,900 34| 10,200 29[ 8,700
22080 |7@wal— Fx 150 7] 1,050 0 7] 1,050
2218 |4F3 B 300 70| 21,000 29[ 8,700 41 12,300
2248 |4F¥3 B 300 80| 24,000 80| 24,000 0 0
RIFYSIRED) | B b 600 54 32,400 20( 12,000 34| 20,400

2A27H  |4F3 X 300 64| 19,200 32| 9,600 32| 9,600
ZOoyal)— Fx 150 6 900 0 6 900

2H288 |BR¥X Fx 200 82| 16,400 22| 4,400 60| 12,000
&t 274,250 137,300 136,950




3R T ERIRFTRER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
3A3H 1F3 B 300 97/ 29,100 42| 12,600 55| 16,500
3H6H AF3 B 300/ 101| 30,300 84| 25,200 17| 5,100

ZOayal)— Fx 150 8] 1,200 0 8] 1,200

3H9H AF3 X 300 105| 31,500 70| 21,000 35| 10,500
38138  |4Fd B 300/ 109 32,700 58 17,400 51| 15,300
H AR FAR ) 5 300 16| 4,800 0 16| 4,800

3148 | BRFXERHD) B 300/ 104 31,200 40| 12,000 64| 19,200
3A15H |BRXERM) FE 300 7 2,100 0 7| 2,100
3A16H |4Fd B 300 81 24,300 27| 8,100 54 16,200
H AR FAR ) FE 300 18] 5,400 11 3,300 7] 2,100

3A178 | BRFERHD) Fx 300 8| 2400 0 8] 2400
3208 |4F3 X 300 74| 22,200 35| 10,500 39| 11,700
3248  |4F3 B 300 123| 36,900 56 16,800 67/ 20,100
&t 254,100 126,900 127,200




4 A 515N IRFTEAER

36, —R& A (3 BR5E | 35N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | 88 | €% | BE | £4 &%
4H4H 1F3 Fx 200/ 105 21,000 0 105 21,000
4H6H Zayal)— Fx 150 23| 3,450 0 23| 3450
48 8H FARNSHR IR 100 6 600 0 6 600
AF3 Fx 200( 116 23,200 0 116] 23,200
4A811H  |[ZFARNSHR  [IRiE 100 6 600 0 6 600
A4F3 Fx 200( 112 22400 0 112] 22,400
Joyal— Fx 150 8] 1,200 0 8] 1,200
48138 |7ANSHR  |RE 100 20| 2,000 0 20[ 2,000
¥ i) ith 200 20| 4,000 0 20( 4,000
48158  |Z7ANSHR |RE 100 20| 2,000 0 20( 2,000
AF3 % 200/ 162 32,400 0 162 32,400
¥ BEh 200 28| 5,600 0 28| 5,600
RIEY-C RiE 600 18[ 10,800 0 18] 10,800
4H18H |4F3 Fx 200 87| 17,400 0 87| 17,400
48208 |ZFARNSHR [IRiE 100 39] 3,900 0 39] 3,900
482280  |4F3 Fx 200 123 24,600 0 123| 24,600
4825H |FARNSHR [IRiE 100 23] 2,300 0 23| 2,300
AF3 Fx 200 87| 17,400 0 87| 17,400
4827H |FARNSHR  [IRiE 100 25| 2,500 0 25| 2,500
4H28H |4F3 Fx 200 90| 18,000 0 90| 18,000
&t 215,350 0 215,350




5 A 35 A ERSEAER

36, — iR E T ERTE

15NEE IRFE(ES)

fR5EH i B Mize=Ea| Bifi | HE| 56 | B8 | €% | = | €8 &%

582H A4F3 S 200[ 93| 18,600 0 93| 18,600
5H6H FARANSHR  |IRE 100 26| 2,600 0 26| 2,600
A4F3 S 200( 87| 17.400 0 87| 17,400

5H9H FARANSHR  |IRE 100 33| 3,300 0 33] 3,300
A4F3 S 200[ 72| 14,400 0 72| 14,400

5A11B  |[FANSHR  |IRE 100 12| 1,200 0 12| 1,200
58138 [ZR/ISHR  |BiE 100/ 26| 2,600 0 26| 2,600
AF3 Fx 200( 100[ 20,000 0 100 20,000

58168 |[4Fd S 200[ 73| 14,600 0 73| 14,600
5198  |[FANSHR  |IRE 100 15| 1,500 0 15| 1,500
58208 [ZR/INSHR B 100 10[ 1,000 0 10[ 1,000
AF3 Fx 200 62| 12,400 0 62| 12,400

58238 |4Fd Fx 200 57| 11,400 0 57| 11,400
5258 |FANSHR |IRE 100 18] 1,800 0 18] 1,800
52718 |ZAR/NSHR |EBE 100 6 600 0 6 600
AF3 Fx 200 69| 13,800 0 69 13,800

5308 |ZR/NSHR |EE 100 9 900 0 9 900
A4F3 Fx 200 36| 7,200 0 36| 7,200

AAH5 S 500[ 38| 19,000 0 38| 19,000

AAH4 Fx 400 28| 11,200 0 28 11,200

5A318B [RAAH5 Fx 500| 50| 25,000 0 50| 25,000
A1 H4 Fx 400 11| 4,400 0 11| 4,400

&t 204,900 0 204,900




6 8 75 ERSTMER

26, —R&E (T BR5E | 15 R S BRFE(ES])

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
6818 FRINSGHR  [IREE 100 7 700 0 7 700
AAH5 Fx 500 29 14,500 0 29[ 14,500
AALH4 B 400 19| 7,600 0 19| 7,600
6828 AALH5 % 500 49 24500 0 49 24500
AALH4 B 400 14| 5600 0 14| 5600
6H3H FARINSHR IR 100 8 800 0 8 800
AAH5 Fx 500 9| 4500 0 9] 4500
AAH4 Fx 400 24| 9,600 0 24| 9,600
6 HA6H FRINSHR  [IREE 100 9 900 0 9 900
AAH5 Fx 500 47| 23500 36/ 18,000 11| 5,500
AALH4 B 400 31| 12,400 0 31] 12,400
6878 AALH5 % 500 74| 37,000 45| 22500 29[ 14,500
AALH4 Fx 400 52| 20,800 2 800 50[ 20,000
6H8H FARINSHR IR 100 8 800 0 8 800
AAH5 B 500 76/ 38,000 25 12,500 51| 25500
AALH4 Fx 400 33| 13,200 10| 4,000 23] 9,200
68138 |FRISHR |BRE 100 9 900 0 9 900
6158 |FARNSHR IR 100 10[ 1,000 0 10/ 1,000
6817H |ZFR/INSHR |BRE 100 9 900 0 9 900
6H208 |FRNSHR IR 100 16/ 1,600 16/ 1,600 0 0
AAH5 B 500 61[ 30,500 61[ 30,500 0 0
AALH4 Fx 400 75 30,000 28 11,200 47 18,800
68228 |RAH5 Fx 500 49 24,500 49 24500 0 0
AALH4 Fx 400 55 22,000 2 800 53| 21,200
68248 |XAH5 Fx 500 68| 34,000 68| 34,000 0 0
AALH4 Fx 400 36| 14,400 15| 6,000 21| 8,400
68278 |FR/NSHR |IBE 100 18] 1,800 0 18] 1,800
68288 |&F RiE 100 2 200 0 2 200
e RiE 100 5 500 0 5 500
6H298 |FARNSHR IR 100 8 800 0 8 800
68308 |49 R 100 9 900 0 9 900
&t 378,400 166,400 212,000




TR 315 AIRTERER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

7A1H FRINSGHR  [IREE 100 6 600 0 6 600
AN RiE 100 6 600 0 6 600

7H4H FRINZGHR  |IRiE 100 11] 1,100 0 11] 1,100
AN RiE 100 6 600 0 6 600

E—< R 100 2 200 0 2 200

785H AALH5 % 500/ 116 58,000 87/ 43500 29[ 14,500
AALH4 B 400 58| 23,200 9| 3,600 49 19,600

s RiE 100 9 900 9 900 0 0

7H6H FRINGHAHR  |IRE 100 17| 1,700 17] 1,700 0 0
AAH5 Fx 500/ 124 62,000 49 24,500 75| 37,500

AALH4 B 400 39[ 15,600 0 39[ 15,600

s RiE 100 9 900 9 900 0 0

7A7H AAH5 B 500 94| 47,000 31| 15,500 63| 31,500
AAH4 Fx 400 21| 8,400 0 21| 8400

59 RiE 100 10/ 1,000 10/ 1,000 0 0

E—< RiE 100 6 600 6 600 0 0

7H8H FARINSGHR  |IRE 100 18] 1,800 0 18] 1,800
AN RiE 100 4 400 0 4 400

e RiE 100 3 300 0 3 300

7118 |[FRNSHR |IRE 100 25| 2,500 0 25| 2,500
59 RiE 100 10/ 1,000 0 10/ 1,000

4 R 100 4 400 0 4 400

E—< RiE 100 7 700 0 7 700

TSHIT B Eih 200 40[ 8,000 0 40[ 8,000

7128 |RAH5 Fx 500 45 22,500 0 45 22500
AAH4 Fx 400 3] 1,200 0 3] 1,200

59 RiE 100 5 500 0 5 500

4 R 100 4 400 0 4 400

E—< RiE 100 5 500 0 5 500

7138 |[FRNSHR IR 100 25| 2,500 0 25| 2,500
AAH5 B 500 28| 14,000 0 28| 14,000

AN RiE 100 6 600 0 6 600




— A& a4 AR 55

15A

8 BRSE(ES)

@B HE B i = E | %5 | ¥=E | % &%
FRINGHR IR 100 23 0 23] 2,300
AAH5 Fx 500 64 0 64| 32,000
AA1H4 e 400 5 0 5| 2,000
59 R 100 5 0 5 500
s RiE 100 5 0 5 500
E—< RiE 100 8 0 8 800
FRINGHR IR 100 13 0 13| 1,300
59 RiE 100 5 0 5 500
E—<> R 100 4 0 4 400
59 RiE 100 5 0 5 500
E—<> R 100 5 0 5 500
FRINSHR  [IREE 100 23 0 23] 2,300
b= =) EE 200 22 0 22| 4,400
FARINSGHR  |IRE 100 18 0 18] 1,800
AN RiE 100 3 0 3 300
FARINSGHR  |IRE 100 12 0 12| 1,200
ke S (A3 200 26 0 26/ 5200
59 RiE 100 3 0 3 300
E—<> R 100 4 0 4 400
FARINSGHR IR 100 11 0 11] 1,100
E—<> R 100 5 0 5 500
EAE = N=) = 200 15 0 15 3,000

&t 92,200 249,300




8 A 75 IRSEMER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
8A1H FRINGHR RiE 100 9 900 0 9 900
8A2H AAH5 B 500 27| 13,500 0 27| 13,500

AAH4 Fx 400 11 4,400 0 11] 4,400
b =) (A3 200 18| 3,600 0 18] 3,600
8A3H FRINGHR RiE 100 7 700 0 7 700
B3PH et} 400 60| 24,000 0 60 24,000
8A5H TFRINGHR RiE 100 6 600 0 6 600
ke S (A3 200 15| 3,000 0 15 3,000
ESoh S 350 62| 21,700 0 62| 21,700
8H8H FARINGHR R 100 10[ 1,000 0 10/ 1,000
by =) (A3 200 56/ 11,200 0 56/ 11,200
8A9H ke S (A3 200 47[ 9,400 0 47( 9,400
T RAE— (A3 200 17| 3,400 0 17| 3,400
8A10H [#FfkiaE& (A3 200 29[ 5,800 0 29[ 55800
FHK Fat 300 13| 3,900 0 13| 3,900
8H12B |[FR/INTHR R 100 8 800 0 8 800
by =) (A3 200 20[ 4,000 0 20[ 4,000
8H158 |FR/INTHX R 100 11 1,100 0 11 1,100
8A17H |FRINZHR R 100 12| 1,200 0 12| 1,200
K et 400 36| 14,400 0 36| 14,400
8A18H |&d RiE 100 7 700 0 7 700
K et 400 36| 14,400 0 36| 14,400
ME el 400 36| 14,400 0 36| 14,400
8H198 [¥EXK e e 400 8| 3,200 0 8] 3,200
E el 350 33| 11,550 0 33| 11,550
8H228 |FRINTHR R 100 18 1,800 0 18] 1,800
Nl Fx 200 6] 1,200 0 6] 1,200
BEOU0®H et 350 24| 8,400 0 24| 8,400
Ed—% fib ith 300 56| 16,800 0 56| 16,800
8H23H [¥EXK e e 300 32| 9,600 0 32| 9,600
E 15 300 30| 9,000 0 30[ 9,000
8H24H |FHR e e 450 46| 20,700 0 46| 20,700




36, —R&E (3 BR5E | 15N S BRFE(ES])

AR5 H @B B {iff = HE | 28 | ¥=E | 5
8H25H |H2U® 350 41 0 41 14,350
B 300 45 0 45| 13,500
8H268 |FR/INSHZR 100 19 0 19| 1,900
K 300 40 0 40[ 12,000
Sl S 4 200 24 0 24| 43800
8H298 |7R/INTGHR 100 7 0 7 700
FHR 450 43 0 43[ 19,350
8H30H |[S=k=hk 200 80 0 80[ 16,000
hERTH 200 7 0 7] 1,400
8H31H =K 200 68 0 68| 13,600
FHR 450 40 0 40[ 18,000
2K 300 39 0 39 11,700
R A 300 15 0 15| 4,500
& 0 372,150




9 R ERERFTRER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| Hiff | BE| €8 | & | €8 | ®WE | 4 ik

9H2H FRINGHR RiE 100 14| 1,400 0 14| 1,400
HHR BB 45t 600 78| 46,800 0 78| 46,800

9A5H FRINGHR RiE 100 9 900 0 9 900
Sl S g B 200 69| 13,800 0 69 13,800

FHR et 600 41| 24,600 0 41| 24,600

hELTE B 200 8] 1,600 0 8| 1,600

9H6H 2K 15 300 25| 7,500 0 25( 7,500
— i BB 45t 200 24| 43800 0 24| 43800

INERAH Fx 200 23] 4,600 0 23| 4,600
WERA(HEH) | Fx 100 15/ 1,500 0 15| 1,500

9H7H IovE—k | B 300 53| 15,900 0 53| 15,900
FogHA Fx 100 23| 2,300 0 23| 2,300

2 K(1.5) EE] 450 30[ 13,500 0 30[ 13,500

9H8H 2K et 300 10[ 3,000 0 10/ 3,000
INERAS Fx 200 9] 1,800 0 9] 1,800
WERA(HEH) | Fx 100 18 1,800 0 18] 1,800

9A9H TFRINGHR RiE 100 6 600 0 6 600
Sl S 4 B 200 73| 14,600 0 73| 14,600

hELTE Fx 200 18] 3,600 0 18] 3,600

k< H(0.8) B 200 22| 4400 0 22 4,400

98128 |FRINZHR R 100 12| 1,200 0 12| 1,200
HEoOE e 250 67| 16,750 0 67| 16,750

98130 |E=k=h B 200 70| 14,000 0 70| 14,000
hELTE B 200 38| 7,600 0 38] 7,600

—tiEfe 1 250 371 9,250 0 37 9,250

k< k(0.8) B 200 21| 4,200 0 21| 4,200

9A15H |y AURAv] WEHh 300 98| 29,400 0 98| 29,400
9168 |[FR/INTHX R 100 7 700 0 7 700
Nl s Fx 200 62| 12,400 0 62| 12,400

hELTE B 200 39 7.800 0 39[ 75800

k< H(0.8) Fx 200 36] 7,200 0 36] 7,200

PR i) 250 26| 6,500 0 26 6,500




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MEESR| Eif 2| 2% | = | 2% | K= | €% &%
9 12%6(0.3) e e 100 21] 2,100 0 21| 2,100
9H208 |7R/INSHR RiE 100 7 700 0 7 700
ke SE (A3 200 40[ 8,000 0 40[ 8,000
k< K(0.8) Fx 200 15| 3,000 0 15| 3,000
9A218 |#F#kiaESE (A3 200 23] 4,600 5/ 1,000 18] 3,600
HX R 200 33| 6,600 0 33| 6,600
9A228 |#H#kiaESE (A3 200 16| 3,200 0 16| 3,200
kb B 200 90[ 18,000 13| 2,600 77| 15,400
hERTE B 200 27| 5,400 14| 2,800 13| 2,600
k< K(0.8) Fx 200 11 2,200 9] 1,800 2 400
9H268 |FR/NTHR R 100 6 600 6 600 0 0
Sl S g B 200 51| 10,200 24| 43800 27| 5,400
hERTE B 200 20[ 4,000 13| 2,600 7 1,400
k< H(0.8) B 200 24| 43800 14| 2.800 10 2,000
9A28H |#kiaESE (A3 200 22 4,400 5/ 1,000 17| 3,400
HX S 200 51| 10,200 20| 4,000 31| 6,200
9 12%5(0.5) et} 200 37| 7,400 7] 1,400 30[ 6,000
9A29H |#HHBEE (A3 200 20[ 4,000 2 400 18] 3,600
Sl S 4 B 200 76/ 15,200 41| 8,200 35 7,000
hERTE B 200 13| 2,600 13| 2,600 0 0
;< H(0.8) Fx 200 16/ 3,200 16/ 3,200 0 0
HX S 300 98| 29,400 27| 8,100 71| 21,300
9A308 [|#F#kiaESE (A3 200 18| 3,600 5/ 1,000 13| 2,600
HX el 300 35| 10,500 25| 7,500 10/ 3,000
&t 449,900 56,400 393,500




10 A 215 RERFEAER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
108380 [ZAval— B 150 19| 2850 0 19 2850
Sl S 4 B 200 54 10,800 29[ 55800 25 5,000
hELTE B 200 5| 1,000 5| 1,000 0 0
k< k(0.8) B 200 25 5,000 20[ 4,000 5| 1,000
1048 |#h#kfaESE (A=3 200 13| 2,600 2 400 11] 2,200
kS i 200 40[ 8,000 14| 2,800 26/ 5,200
10858 [FAval— xR 150 22 3,300 22[ 3,300 0 0
ke S (A3 200 21| 4,200 2 400 19| 3,800
T RE— (A3 200 21| 4,200 8| 1,600 13| 2,600
kS Fx 200 58] 11,600 15[ 3,000 43| 8,600
EEAER i 300 20| 6,000 20( 6,000 0 0
FEABR(1.5) e e 450 5| 2250 0 5| 2,250
10H6H |[7RZ— f£= 200 15 3,000 10| 2,000 5/ 1,000
kS Fx 200 15| 3,000 0 15| 3,000
EEAER EE] 300 40[ 12,000 37] 11,100 3 900
$EABR(1.5) et} 450 14| 6,300 0 14| 6,300
10878 [FAval— xR 150 50[ 7,500 20[ 3,000 30[ 4500
ke SE (A3 200 12| 2,400 5/ 1,000 7 1,400
T RAE— (A3 200 19| 3,800 8| 1,600 11] 2,200
Sl S 4 B 200 47( 9,400 21| 4,200 26/ 5,200
hERTE B 200 13| 2,600 13| 2,600 0 0
k< k(0.8) B 200 18] 3,600 18] 3,600 0 0
10811H [FAyval— B 150 61 9,150 20[ 3,000 41| 6,150
Sl S 4 B 200 68 13,600 14| 2,800 54 10,800
hELTE Fx 200 13| 2,600 0 13| 2,600
k< k(0.8) B 200 19| 3,800 17| 3,400 2 400
108128 |#h#kfaES& (A3 200 16| 3,200 5/ 1,000 11] 2,200
T AZ— EE 200 31] 6,200 5| 1,000 26| 5,200
108138 [#8AER EE] 300 16] 4,800 16] 4,800 0 0
$EABR(1.5) e e 450 10/ 4,500 0 10| 4,500
#hE i 600 50 30,000 35 21,000 15/ 9,000
108148 |[Z@yal)— Fx 150 48| 7,200 20| 3,000 28] 4,200




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

b =) (A3 200 15| 3,000 5/ 1,000 10 2,000

FREI— fE= 200 30[ 6,000 7| 1,400 23| 4,600

Sl S g B 200 78| 15,600 20[ 4,000 58] 11,600

hELTE Fx 200 12| 2,400 0 12| 2,400

;< H(0.8) Fx 200 10[ 2,000 0 10/ 2,000

FEA BRCA]) AR 250( 130 32,500 67| 16,750 63| 15,750

108178 [FAval)— Fx 150 21] 3,150 0 21] 3,150
A= N=) EE 200 10| 2,000 6| 1,200 4 800

Sl S 4 B 200 56| 11,200 17| 3,400 39[ 7.800

hELTE Fx 200 14] 2,800 0 14| 2,800

k< 1(0.8) Fx 200 3 600 0 3 600
BAEREDE) S 200 50( 10,000 0 50( 10,000

HrE IR 100 40( 4,000 25 2500 15/ 1,500

10R188 |#h#kfaE& (A3 200 23] 4,600 4 800 19| 3,800
T AZ— EE 200 34| 6,800 2 400 32| 6,400

i R 600 135| 81,000 33[ 19,800 102 61,200

FEABRGA]) AT 250 80| 20,000 50| 12,500 30[ 7,500

10198 |#h#kfaE & (A3 200 7 1,400 0 7| 1,400
T AZ— EE 200 6] 1,200 0 6] 1,200

EEAER EE] 250 49 12,250 0 49 12,250

108208 [FAvyal)— B 150 13] 1,950 0 13| 1,950
SZhbk xR 200 48] 9,600 0 48[ 9,600

hERTE B 200 11] 2,200 0 11] 2,200

k< H(0.8) Fx 200 2 400 0 2 400

HEAER e e 250 64| 16,000 37| 9,250 27| 6,750

HYrME R 100 22| 2,200 0 22 2200

108218 |FikfaES& (=3 200 12| 2,400 8] 1,600 4 800
T RAE— (A3 200 31| 6,200 16| 3,200 15 3,000

FEABRGA]) AR 250 93| 23,250 47] 11,750 46| 11,500

B XA B 300 31 9,300 24 7,200 7| 2,100

108248 |[FOvyal)— Fx 150 9] 1,350 9] 1,350 0 0
kb B 200 69 13,800 32[ 6,400 37 7,400

hELTE B 200 22| 4400 14| 2,800 8| 1,600




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
k< 1(0.8) Fx 200 1 200 1 200 0 0
B AR 250( 102 255500 50| 12,500 52| 13,000
108258 |FifkfaES& (A3 200 6| 1,200 4 800 2 400
T RE— = 200 25 5,000 6| 1,200 19| 3,800
i Rt 600[ 115[ 69,000 26| 15,600 89| 53,400
BAEREDE) el 200 69| 13,800 24| 45800 45( 9,000
B AT 250 25| 6,250 12| 3,000 13| 3,250
10H268 |#h#kfaESE = 200 2 400 1 200 1 200
T AZ— EE 200 6] 1,200 1 200 5| 1,000
i i 600 22| 13,200 10| 6,000 12| 7,200
BEREDE) et 200 30| 6,000 13| 2,600 17] 3,400
B AR 250 18] 4,500 12| 3,000 6] 1,500
108278 |[Z@yal)— Fx 150 17 2,550 17| 2,550 0 0
i i 600 3| 1,800 3| 1,800 0 0
108288 [S=hkXb B 200 64| 125800 39[ 7,800 25 5,000
b ERTE B 200 29[  5.800 22 4400 7| 1,400
k< k(0.8) B 200 3 600 3 600 0 0
108318 [FAval— xR 150 55| 8,250 35| 5250 20[ 3,000
T AZ— EE 200 44| 8,800 3 600 41| 8,200
&t 702,850 277,800 425,050




11 A5 RNERFEAR

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
MA1H [#H#%kaEE E£EE 200 20| 4,000 0 20( 4,000
T AZ— EE 200 17[ 3,400 0 17| 3,400
BAEREDE) S 200/ 102 20,400 24| 4,800 78| 15,600
AR ] 200 6] 1,200 6] 1,200 0 0
EILE el 200 3 600 3 600 0 0
FE(1.5) e e 450 35| 15,750 18 8,100 17| 7,650
11H28  [FAval— B 150 73| 10,950 11 1,650 62] 9,300
T AZ— EE 200 17[ 3,400 5| 1,000 12| 2,400
kb B 200 39 7,800 10| 2,000 29[  5,:800
hELTE B 200 20( 4,000 11] 2,200 9] 1,800
k< H(0.8) Fx 200 2 400 2 400 0 0
BEREDE) e e 200 29| 5,800 14| 2,800 15| 3,000
CAFELA EE] 200 42| 8,400 14] 2,800 28| 5,600
11548 [#= AR 250 65| 16,250 30[ 7,500 35 8,750
FECAD AR 200 61] 12,200 33| 6,600 28| 5,600
11A78  [ZAayval— Fx 150 98| 14,700 45| 6,750 53| 7,950
by =) (A3 200 10| 2,000 4 800 6| 1,200
Sl S 4 B 200 44| 8,800 44| 8,800 0 0
b ERTE B 200 18] 3,600 18] 3,600 0 0
F= AR 250 6] 1,500 4] 1,000 2 500
ER 15 500 135[ 67,500 56| 28,000 79[ 39,500
=X AR 250 34| 8500 12| 3,000 22| 5500
~HELE AR 300 50[ 15,000 20[ 6,000 30[ 9,000
11A8H |fikfaES& (A3 200 10| 2,000 0 10 2,000
HR¥E Fx 200 50| 10,000 20| 4,000 30| 6,000
F= AR 250 4] 1,000 4] 1,000 0 0
H AR 250 15| 3,750 11] 2,750 4] 1,000
11898 [E# e e 500 40| 20,000 26| 13,000 14| 7,000
H AR 250 4] 1,000 4] 1,000 0 0
1% 2 4 AR 200 54| 10,800 3 600 51| 10,200
Abvo (A3 200 13| 2,600 0 13| 2,600
11A108 |[Zayal— Fx 150 84| 12,600 35| 5250 49| 7,350




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MEESR| Eif 2| 2% | = | 2% | K= | €% &%

Sl B4 B 200 79| 15,800 36] 7,200 43[ 8,600

b ERTE B 200 14| 2,800 10 2,000 4 800

THE4L AR 300 32[ 9,600 7 2100 25 7,500

s 2] AR 200 12| 2400 1 200 11] 2,200

Abvy (A3 200 6| 1,200 2 400 4 800

AFCGAD AR 300 50| 15,000 23| 6,900 27| 8,100

HMAN1HE |FkfEes (A3 200 9| 1,800 0 9] 1,800
T RAE— (A=3 200 20[ 4,000 3 600 17| 3,400

THE4L AR 300 15| 4,500 8| 2,400 7| 2,100

Abvo (A3 200 15| 3,000 4 800 11] 2,200

118148 |[Z@Oyal— Fx 150 85| 12,750 26| 3,900 59| 8,850
by =) (A3 200 5/ 1,000 0 5/ 1,000

THE4L AR 300 20[ 6,000 11] 3,300 9] 2,700

FTHAE R 300 30[ 9,000 22[ 6,600 8| 2400

11A158 |Fikfaas (A3 200 5| 1,000 4 800 1 200
S=hbk B 200 65/ 13,000 28| 5,600 37 7,400

hELTE B 200 15| 3,000 15 3,000 0 0

EX N R 500 95| 47,500 22| 11,000 73] 36,500

THE4L AR 300 3 900 3 900 0 0

Abvo = 200 8| 1,600 6| 1,200 2 400

11A16H [FAval— B 150 10| 1,500 10 1,500 0 0
BT =N=) = 200 3 600 1 200 2 400

Abvy (A3 200 5| 1,000 5| 1,000 0 0

HYYILE R 200 12| 2400 0 12| 2400

118178 [Zayal— Fx 150 42| 6,300 20| 3,000 22| 3,300
~HELE AR 300 98| 29,400 33[ 9,900 65/ 19,500

11A18H [EHMCH) AT 200 66| 13,200 43| 8,600 23| 4,600
11218 |4F3d B 300 12| 3,600 12| 3,600 0 0
ZOyal)— Fx 150 50| 7,500 14 2,100 36| 5,400

b= =) (A3 200 4 800 0 4 800

Sl S 4 B 200 60[ 12,000 30[ 6,000 30[ 6,000

b ERTE B 200 18] 3,600 18] 3,600 0 0

Abvy (A3 200 6] 1,200 0 6] 1,200




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
11A228 |FikfaEE (A3 200 6| 1,200 5/ 1,000 1 200
EX N R 500 63| 31,500 28| 14,000 35| 17,500
Abvy (A3 200 6| 1,200 2 400 4 800
= H M) AR 200 61[ 12,200 21| 4,200 40[ 8,000
118248 [FAavyal)— B 150 70| 10,500 55 8,250 15| 2,250
by =) (A3 200 3 600 3 600 0 0
Abvo = 200 10 2,000 4 800 6] 1,200
118258 |4F3d Fx 300 20( 6,000 0 20[ 6,000
THE4L AR 200 40[ 8,000 20[ 4,000 20[ 4,000
AFRCGAD AR 200 50| 10,000 19| 3,800 31| 6,200
EF e 200 28| 5,600 8] 1,600 20( 4,000
Y (Z4RER) EE] 100 47 4700 16] 1,600 31] 3,100
118288 [4Fd X 300 22| 6,600 0 22| 6,600
JOyal)— B 150 71| 10,650 13| 1,950 58| 8,700
kS Fx 200 33| 6,600 12[ 2,400 21| 4,200
~HELE AR 200 30[ 6,000 15 3,000 15| 3,000
Y (AR et} 100 16] 1,600 15| 1,500 1 100
AL S 300 54| 16,200 17] 5,100 37| 11,100
118298 [RIFY-C R 600 19[ 11,400 19 11,400 0 0
by = =) E= 200 5| 1,000 2 400 3 600
Sl S 4 B 200 93 18,600 21] 4,200 72| 14,400
hELTE Fx 200 21| 4,200 15| 3,000 6] 1,200
kS i 200 10| 2,000 4 800 6| 1,200
Abvo (A3 200 12| 2,400 2 400 10 2,000
FHAE IR 300 27| 8,100 0 27| 8,100
118308 [RbyY f£= 200 3 600 0 3 600
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
& 728,300 300,000 428,300




12 A 215 RNERFTAER

26, —R&E (T BR5E | 15 R S BRFE(ES])
BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik

12818 [ZAayal)— Fx 150 7] 1,050 7] 1,050 0 0
Abvy (=3 200 5| 1,000 5/ 1,000 0 0

12820 [4F3 B 300 36/ 10,800 0 36/ 10,800
JOyal)— Fx 150 40| 6,000 13 1,950 27| 4,050

Abvo (A3 200 4 800 4 800 0 0

= FHCE) AR 200 12| 2,400 4 800 8| 1,600

i) I R BB AR 250 36] 9,000 21| 5250 15| 3,750

TEfERR AR 200 60| 12,000 32| 6,400 28| 5,600

IR fHIAR AR 250 49 12,250 23| 5,750 26| 6,500

12A58  |FikfaESs (A3 200 2 400 0 2 400
Abvy f£= 200 5/ 1,000 0 5/ 1,000

BILJ R ER AR 250 9] 2250 1 250 8] 2,000

TEfH A AR 200 4 800 3 600 1 200

FRfHFR AR 250 4] 1,000 0 4| 1,000

1286H _[4F3 Fx 300 20| 6,000 0 20( 6,000
JOyal)— Fx 150 28| 4,200 11 1,650 17| 2,550

1EHHFT AR 200 52| 10,400 13| 2,600 39| 75800

1278 |RbyY (A3 200 8| 1,600 6] 1,200 2 400
1EHHFT AR 200 48| 9,600 18] 3,600 30| 6,000

1288 |S=kXEH B 200 19] 3,800 0 19| 3,800
12890 [4F3 B 300 21| 6,300 0 21| 6,300
ZOyal)— Fx 150 21] 3,150 0 21] 3,150

Nl s Fx 200 7] 1,400 0 7| 1,400

Abvo S 200 11 2,200 3 600 8| 1,600

RIFY-IR RiE 600 40 24,000 14| 8,400 26 15,600

128128 [4F3 X 300 23| 6,900 22| 6,600 1 300
by =) (A3 200 2 400 2 400 0 0

Sl S 4 B 200 37| 7.400 22 4,400 15 3,000

B XA B 300 61| 18,300 21| 6,300 40[ 12,000

Abvy (A3 200 3 600 1 200 2 400

128138 [FAval— B 150 52| 7,800 19| 25850 33] 4950
H A FAR) Fx 300 60| 18,000 8] 2400 52| 15,600




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

Abvo S 200 6] 1,200 1 200 5 1,000

128148 |BRX@ARLH) Fx 300 34| 10,200 10| 3,000 24| 7,200
= F M) AR 200 49 9,800 10| 2,000 39[ 75800

AL EEl 300 39| 11,700 13| 3,900 26| 7,800

TE{ERR AT 200 32| 6,400 5| 1,000 27| 5400

e (L HER EE] 100 21 2,100 12| 1,200 9 900

LEY 28 150 69 10,350 17| 2,550 52| 7,800

12158 |BRFERD) B 300 43| 12,900 5| 1,500 38| 11,400
Abvy (A3 200 12| 2,400 1 200 11] 2,200

THAE RiE 300 11] 3,300 5| 1,500 6] 1,800

= FHiCE) AR 200 13| 2,600 6] 1,200 7 1,400

AL S 300 10/ 3,000 4] 1,200 6] 1,800

TE{ERR AT 200 2 400 1 200 1 200

e (L HER EE] 100 12| 1,200 4 400 8 800

LEV e e 150 31] 4,650 7] 1,050 24| 3,600

128168 |4F3 B 300 31 9,300 28| 8,400 3 900
JOyal)— Fx 150 9] 1,350 0 9] 1350

H A F@ARD) 5 300 16| 4,800 11| 3,300 5/ 1,500

Abvy (A3 200 5| 1,000 5| 1,000 0 0

= H M) AR 200 16| 3,200 15 3,000 1 200

Y (ZHER e e 100 3 300 0 3 300

128198 _[4F3 Fx 300 27| 8,100 18] 5,400 9] 2700
= FHiCE) AR 200 3 600 3 600 0 0

128208 |#h#kfaEE (A3 200 5/ 1,000 0 5/ 1,000
Abvy (A3 200 11] 2,200 7[ 1,400 4 800

122280 |RkvyY €= 200 15[ 3,000 11] 2,200 4 800
LEV et 150 50| 7,500 24| 3,600 26| 3,900

128238 _[4F3 Fx 300 27| 8,100 18] 5,400 9] 2700
LEV e e 150 10[ 1,500 4 600 6 900
RIFYSIRED) | b 600 26| 15,600 5| 3,000 21| 12,600

128268 |FikfaES (A3 200 1 200 0 1 200
Abvy f£= 200 4 800 0 4 800

LEV E e 150 16 2,400 0 16/ 2,400




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
128288 [4Fd B 300 54| 16,200 0 54| 16,200
JOyal— xR 150 26/ 3,900 0 26/ 3,900
ke SE (A3 200 3 600 0 3 600
Abvo s 200 23] 4,600 0 23] 4,600
0 0 0 0
0 0 0 0
&t 371,250 124,050 247,200




1A 215 RERFEAR

26, —R&E (T BR5E | 15 R S BRFE(ES])

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
1A4H ZOyal)— Fx 150 14 2,100 0 14| 2,100
EIEr N =) (A3 200 2 400 0 2 400
Abvo s 200 3 600 0 3 600
1A5H AF3 X 300 76| 22,800 0 76| 22,800
Abvo f£= 200 2 400 0 2 400
18118 [4Fd X 300 67| 20,100 28| 8,400 39| 11,700
1128 |BRF@ARL) B 300 78| 23,400 15| 4,500 63| 18,900
18138 [ZAaval— Fx 150 35| 5,250 35| 5,250 0 0
e =N=) = 200 1 200 0 1 200
RIFXYIE R 600 60 36,000 24| 14,400 36/ 21,600
1168 |4F3 B 300 72| 21,600 54 16,200 18] 5400
18208  [4Fd X 300 82| 24,600 46| 13,800 36| 10,800
JOyal)— B 150 36| 5400 16| 2,400 20[ 3,000
18238 [4Fd X 300 48| 14,400 35| 10,500 13| 3,900
RIFY-IR RiE 600 38| 22,800 17] 10,200 21| 12,600
182780 [4Fd X 300 66| 19,800 44| 13,200 22| 6,600
&t 219,850 98,850 121,000




2 A 5 RAERFERER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
2A18 1F3 B 300 95 28,500 30[ 9,000 65 19,500
2H6H AF3 B 300 86| 25,800 62| 18,600 24| 7,200
2A9H 1F3 B 300 89 26,700 38 11,400 51| 15,300
2138 |4F3 X 300 89| 26,700 69| 20,700 20| 6,000

JOyal)— xR 150 22| 3,300 0 22 3,300

2168 |BRFXERHD) FE 300 98| 29,400 29| 8,700 69| 20,700
2178 |4F3 B 300 63| 18,900 34| 10,200 29[ 8,700
22080 |7@wal— Fx 150 7] 1,050 0 7] 1,050
2218 |4F3 B 300 70| 21,000 29[ 8,700 41 12,300
2248 |4F¥3 B 300 80| 24,000 80| 24,000 0 0
RIFYSIRED) | B b 600 54 32,400 20( 12,000 34| 20,400

2A27H  |4F3 X 300 64| 19,200 32| 9,600 32| 9,600
ZOoyal)— Fx 150 6 900 0 6 900

2H288 |BR¥X Fx 200 82| 16,400 22| 4,400 60| 12,000
&t 274,250 137,300 136,950




3R T ERIRFTRER

35 . — &M@ ERE

15N S IRSE(ESD)

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
3A3H 1F3 B 300 97/ 29,100 42| 12,600 55| 16,500
3H6H AF3 B 300/ 101| 30,300 84| 25,200 17| 5,100

ZOayal)— Fx 150 8] 1,200 0 8] 1,200

3H9H AF3 X 300 105| 31,500 70| 21,000 35| 10,500
38138  |4Fd B 300/ 109 32,700 58 17,400 51| 15,300
H AR FAR ) 5 300 16| 4,800 0 16| 4,800

3148 | BRFXERHD) B 300/ 104 31,200 40| 12,000 64| 19,200
3A15H |BRXERM) FE 300 7 2,100 0 7| 2,100
3A16H |4Fd B 300 81 24,300 27| 8,100 54 16,200
H AR FAR ) FE 300 18] 5,400 11 3,300 7] 2,100

3A178 | BRFERHD) Fx 300 8| 2400 0 8] 2400
3208 |4F3 X 300 74| 22,200 35| 10,500 39| 11,700
3248  |4F3 B 300 123| 36,900 56 16,800 67/ 20,100
&t 254,100 126,900 127,200




